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SOCIOLOGY

Paper 1

Time -3 Hours ! [ Maximum Marks @ 300

INSTRUCTIONS

Ench question ts printed both in English and in Kannada.

Answers must be written in the medium specified (English or
Kannada) in the Admission Ticker issued to you, which must
be stated clearly on the cover of the answer book in the space

provided for this purpose. No credit will be given for the

answers written in a medium other than that specified in the
Admission Ticket. In case of any doubt in the Kannuada text,

please refer to English text.

This paper has four parts :

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotted o each question are indicated in each part.

All questions ine Purt A, Purt B and Part C are compulsory.
Answer auny three questions in Part D,
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PART A 4x5=20
Answer each question in about 50 words. Each question carries 5 marks.
1. Write short notes on the following -
(a) Buicide
(b) Decline of the Jajmant System
(¢} Latent functions

(d) Quota sampling
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PART B 10x10=100

Answer each question in about 100 words. Each question carrtes 100 marks.

2. Explain Varne and Jati.
3. Discuss the impact of Legislation upon Family as an institution,

4. ldentify and briefly explain at least two advaniages for the researcher in
using a ‘Pilot stuay’.

5. Comment on the criticisms of the Malthusian theary of population.

6. Wrile a nole on ‘Sanskritization’,

7. Wnte a note on Information technology and Famiy change.

8. “The main function of religion in society today is not the same as what it
was a lew decades ago.” — Commeni on the sociologieal arguments and

avidence 1in support. af this view of religion taday.

9. Discuss Weber’s theory of the growth of capitalism as may be applied to
India.

10. Write a note on ‘High Culture’ and ‘L.ow Culture’.

11. Comment on the Marxian theory of soeial change.



3.

=1

10.

11.

(5) 2177
R B 10x10=100
T 30X00I TTR 100 Tomer SLecoo 0 Ses. T8 T 10 wogires.
D 2033 PEOD W LTDL.
Eoteds a_aa‘—"?;‘mﬁ@ﬁ, Boeonry Sheed mEST SOOI, QB

Pspigtaatoiatd wroLs  (Pilot  stady) Uy, wYRIRobon WodecnwEon
SRZuinT (FAF) QT vabTaonday YR I esinyd XCB Temn
@b,

m‘ﬁoaﬁd F0Z IpFIRLoTSE mo:m DRNDYE Eledmy V&g, 0 33,509, 0%,
oeen AOT, 20T BEWET (Sanskritization) b éﬁjwsé 20D,

mlhd OB L DELRTE DECITE BB Lom 8T 3N,

BUD) SBEING %ol TSRuRY FEbrsy olRs Sun, T WWAEG B wmEy
TOOT TERRDD T%R0E0.” — FEEDT, WOT B &, TR ERT 2om
m@c«;“@a E00) WROTEY 20 ooy, Hendma BTNy wil daed w3dne.
WRUTE, ONIDRNECCE Suots waEmvmk UvssaRod 4 DeTTTY,
EEn -

Saeen mow, & SE TY mow, Lo TOOB Lom Wa e Bdxe.

TRERRT WECITE 0 THE e %agoa“m’ 23 D33, BRTOX NEE.

[Turn over



21j1 (6)

PART C 6x15=90

Answer each question in about 150 words. Each question carries

15 markhs.
Write detailed notes on the following :
12. Backward Classes and the ‘Creamy Layer’.
13. Re-emergence of Joint-Family : Myth or reality ?
14. Scciological dimensions of peasant movements in Post-Independent India.
15. The sociological debate aboul studying one’s own society,
16. Modernisation of education and its limits as a means of medernization.

17. Contemporary relevance of [unctionalist  explanation of  sacial

stratification.
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PART D 3x30=00

Answer any three of the following questions, each in about 300 words.
Each question carries 30 marks.

18. Define ‘Role expectations’. Describe the role expectations of 'beggar’,
‘policeman’ and ‘burcaucrat’. Taking any one of these roles, analyse how

role conflict oeeurs in it.

19. Write an essay on law and society, keeping either c¢hiid labour or dowry
in focus.

20. Cliven the pace of social change, the difference between rural and urban
society in India is disappeanng. — Would vou justify this view or

disagree with il 7 Substantiate your answer.

21, ‘Clobalisation has killed the trade union movement) Discuss, in the
Indian context.

29 (Comment on land reforms and changes in the agrarian social structure.
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